SPH4U: Physics, Grade 12, University Preparation
Activity 3: Energy Lab

Ball #1:

 m = 1.2 kg; Initial height = 5.0 m
Total Energy at initial height =

	Trial #
	Paused Height (m)
	Velocity (m/s)
	Gravitational 

Energy 

(Eg=mgh) (J)
	Kinetic Energy 

(Ek= ½ mv2) (J)
	Total Energy

(ET = Eg + Ek)

	1


	
	
	
	
	

	2


	
	
	
	
	

	3


	
	
	
	
	

	4


	
	
	
	
	

	5


	
	
	
	
	


Ball #2:

 m = 2.2 kg; Initial height = 5.0 m
Total Energy at initial height =

	Trial #
	Paused Height (m)
	Velocity (m/s)
	Gravitational 

Energy 

(Eg=mgh) (J)
	Kinetic Energy 

(Ek= ½ mv2) (J)
	Total Energy

(ET = Eg + Ek)

	1


	
	
	
	
	

	2


	
	
	
	
	

	3


	
	
	
	
	

	4


	
	
	
	
	

	5


	
	
	
	
	


Ball #3:

 m = 3.2 kg; Initial height = 5.0 m
Total Energy at initial height = 

	Trial #
	Paused Height (m)
	Velocity (m/s)
	Gravitational 

Energy 

(Eg=mgh) (J)
	Kinetic Energy 

(Ek= ½ mv2) (J)
	Total Energy

(ET = Eg + Ek)

	1


	
	
	
	
	

	2


	
	
	
	
	

	3


	
	
	
	
	

	4


	
	
	
	
	

	5


	
	
	
	
	


